MODEL #D | #P T L1 L2 | E A B (HEX) X Y | ORIFICE WE(E;)HT
PST 03-M3C M3*0.5p | 14.7 | 28.3 3.0 8 1.5 4.0
PST 03-M5C 3 | 76 | M5*0.8p [ 15.3[28.9 | 136 36 |11.3] 8 9.2 | 7.2 55 5.0
PST 03-M6C M6*1.0p | 15.8 | 29.4 4.1 8 5.0
PST 04-M3C M3*0.5p | 15.3 | 29.8 3.0 8 1.5 5.0
PST 04-M5C M5*0.8p | 15.9 | 30.4 3.6 8 2.5 6.0

4 | 87 14.6 11.8 10.4 | 8.2
PST 04-M6C M6*1.0p | 16.4 | 30.9 4.1 8 . 6.0
PST 04-01C R 1/8 |16.4]30.9 8.0 10 9.0
PST 06—-M5C M5*0.8p | 16.9 | 33.4 3.6 8 2.5 7.0
PST 06—M6C 6 | 10.8 [M6*1.0p| 174|339 [165]| 41 [128| 8 |12.4]102 <0 7.0
PST 06-01C R1/8 |17.4]33.9 8.0 10 ' 10.0

L2
oP

L1




